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BGYET-147 : GEOMORPHOLOGY AND 

GEOTECTONICS 

Time : 2 Hours     Maximum Marks : 50 

Note : All questions are compulsory. Marks allotted 

for each question are indicated against it. 

Draw well-labelled diagram, wherever 

necessary. 

1. Briefly answer any five of the following 
questions :  5×2=10 

(a) Define geomorphology. 

(b) What is denudation ? 

(c) What is the relationship between mass 
wasting and hillslope ? 

(d) What are impact craters ? 
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(e) Differentiate between flood plain and 

alluvial fan. Give two points. 

(f) What are Laurasia and Gondwanaland ? 

(g) What is palaeomagnetism ? 

(h) List types of plate boundaries. 

(i) Differentiate between volcanic arc and 

island arc. 

(j) List the cratons of Peninsular India.  

2. Write short notes on any four of the following : 

      4×5=20 

(a) Applications of geomorphology. 

(b) Role of climate in development of 

landforms. 

(c) Periglacial landforms. 

(d) Types of coasts. 

(e) Geotectonic features of the oceans. 

(f) Vine-Mathews hypothesis. 

(g) Evolution of the Himalaya. 

(h) Suture zones of Peninsular India. 
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3. Answer any one of the following : 1×10=10 

(a) Discuss in detail, the geomorphic divisions 
of India. 

(b) Describe erosional landforms formed by 
wind action with the help of neat well-
labelled diagrams. 

4. What do you understand by continental drift ? 
Discuss in detail, the evidence supporting 
continental drift. 10 

Or 

(a) Discuss the mechanisms of plate  
tectonics. 5 

(b) Give an account of the processes operating 
at transform fault plate boundaries. 5 
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      BGYET-147 

foKku Lukrd (lkekU;) 

(ch- ,- ,l- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- th- okbZ- bZ- Vh--147 % HkwvkÑfrfoKku vkSj 

HkwfoorZfudh 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds vad mlds 

lkeus fn, x, gSaA tgk¡ vko';d gks] lqukekafdr 

vkjs[k cukb,A 

 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj la{ksi esa 

nhft, %   5×2=10 

(d) HkwvkÑfrfoKku dks ifjHkkf"kr dhft,A 

([k) vukPNknu D;k gksrk gS \ 

(x) c`gr~ {kj.k vkSj igkM+h <ky esa D;k lEcU/ gS \ 

(?k) izfr?kkr ØsVj D;k gaS \ 
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(Ä) ck<+Ñr eSnku vkSj tyks<+ ia[k esa nks vUrj 

crkb,A 

(p) ykWjsf'k;k vkSj xksaMokukySaM D;k gSa \ 

(N) iqjkpqEcdRo D;k gS \ 

(t) IysV lhekvksa ds izdkj crkb,A 

(>) Tokykeq[kh pki vkSj }hi pki esas vUrj Li"V 

dhft,A 

(×k) izk;}hih; Hkkjr ds ØsVkWUl ds uke fyf[k,A 

2- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

(d) HkwvkÑfrfoKku ds vuqiz;ksx 

([k) HkwvkÑfr;ksa ds fodkl esa tyok;q dh Hkwfedk 

(x) ifjfgeunh; HkwvkÑfr;k¡ 

(?k) rVksa ds izdkj 

(Ä) egklkxjksa ds HkwfoorZfudh y{k.k 

(p) okbu&eSF;wl ifjdYiuk 

(N) fgeky; dk fodkl 

(t) izk;}hih; Hkkjr ds lhou {ks=k 
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3- fuEufyf[kr esa ls fdlh ,d dk mÙkj  

nhft, %   1×10=10 

(d) Hkkjr ds HkwvkÑfr foHkktuksa dh foLrkj ls ppkZ 

dhft,A 

([k) ok;w<+ izfØ;kvksa }kjk fu£er vijnukRed 

HkwvkÑfr;ksa dk Li"V ukekafdr vkjs[kksa dh 

lgk;rk ls o.kZu dhft,A 

4- egk}hih; foLFkkiu ls vki D;k le>rs gSa \ 

egk}hih; foLFkkiu dk leFkZu djus okys izek.kksa dh 

foLrkj ls ppkZ dhft,A 10 

vFkok 

(d) IysV foorZfudh dh fØ;kfof/ dh foospuk 

dhft,A  5 

([k) :ikUrj Hkza'k IysV lhekvksa ds ikl gksus okyh 

izfØ;kvksa dk fooj.k nhft,A 5 
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